
6.1.2033661 133 [urpp[4nqur, frn4nqur 25dq+250rlq q2 rlhrlurhruu 190,91 76364 400
5.1.2633621310

np[ilhuurq]r+htrlr +hhlttf pnplnpfr4 /Sp]nfhururq]r1frtr,
35ilc /

q2
4hrluhtuu 58,54 280992 4800

6.1.2833651253Surdnpufghh 20ilq qZ 11hr1-uhur,n 91,73 233911,5 2550
6.1.3033661 156 phrJnfilr rftulhuru O.5o/o 5tI! qZ u\trurllurpfrl 469,2 rr730 25
6.1.3133621700dhrnnqpnlnfir tnuprnpuln 25rlq qZ 4hqruhurur 20,95 s0280 2400
6.1.3233621520ttrurlurqpfrl Ghrulurqplr6 riurlhuru), 1Orlq q2 4trlurhuln 7,96 9552 1200
6. t .34 33677113uurpnunruilnf untl$uru l0rl1/ qZ gnlurghp 1000 10000 10
6.1.3533627390Uil[n4urpntr 200ilq qZ rltrlurhurtn 86,83 s2098 600

2709556,96,2

ung. uuurullrhnq IuUFnLtl E tr1@
uht[dup urFEn{ 4hrlnprulp h pd2llu\rutr \htlnpntr}r

Lrunhhhu trhnnrrl h hrJruLrntrhnh nn r rh f rrr h h rrr r firr n
6.2.1 33621450urillnrlfrqfrh (uliln4frqlrtrfr phqfrlunn) 5ilq qZ qhrl-uhu-ru 9 13500 1500
6.2.7 336217 20 lrh""Unnr"tt gnrtlurpurur 5dq qe qhrlurhutn 10,99 26376 2400
6.2.9 33631210phurunlhpurqnh lrlq/q, l5q qZ

PUnLB 924 9240 1 0
6.2.17 33621620uqfpnhnlu\rnnh 25tfq qZ 4hrpuhurur 35,5 3s500 1000
6.2.r533621 I 10 up$upfrh hulnpfrnul 3rlq qZ 4h4uhtuur 30,69 21476 700
6.2.76336313101f\1n$hhur\ trururplrntti 50 rlq qZ 4hrpuhunn 13 39000 3000
6.2.7833621690\up{h4}16.2s rlq qZ 4trltuhurn 26 156000 6000
6.2.79 3362t690 \urp{h4[12s rlq qZ 4hlurhruur 35 98000 2800
6.2.23 33621761ughufluurfirgfrprppnr 75 rlq N30/ qZ 4hqurhrur.n l 1 264000 24000
6.2.26 33642230 hnplrpopufrtr (flrnpfrpopufrtr hunnpfrnril) 100 rlq qZ 4hrlurhuur l 4 8400 600
6.2.29 33661 133 \uppfrrlnqur, frn4nqur 25riq+250ilq q2 4hqurhuu 96 528000 5500
6.2.36 33621310

up[tf hururq]rr]hLb +hhh+nnplnphr] /Spfllhtnurq]r4frtr,
35 rlo /

qZ 4hrluhuru 26,9 121050 4500
6.2.4I 33621700ilhunqpnlnfr tnrupurpurur 25rlq qZ 4hrluhuru 17,99 323820 18000
6.2.42 33621700dhtnnqpnlnflr rnurpurpunn I 00ilq q2, 4hrluhuur 30,99 278010 9000
6.2.44 33621520Lhruluqplrl (thurlurqpfrfr rfurlhrurn) I 0 tlq gZ 4hrlurhurtn 5,7 8550 1500
6.2.46 33671113uurpmururdnf unrl$urtn 10rI1/ gZ gnrlugfrp 1000 30000 30
6.2.50 33651253Sulifrpufr$hh 20tlq qZ qhrlurhurn 64 134400 2100
6.2.51 33621390Utf[nryupnh 200ilq qZ 4trlurhurn 60,9 73080 1200
6.2.52 33631310}[\ln$hLur\ 2srlq/3rl1 qZ ullqntlu-r 73,99 9249,75 r25
6.2.53 33691176\lnphuruqnl (\lnphuurqnflr qpnqfrntrurtn)0.05o/o 1 5q qZ DUNLD 884,4 8844 10
6.2.54 33621140\Utqtrt"qphL Qlnqfrlnqptfr pfrunrl$uln) 75dq qz rlhrlurhrutn 90 162000 1800

6.2.56 33651 I 1 I
urilopulrglrgh (urdopu[g[frh]r rnpfrh]r4purur),
plullnr-lurtruppm(\urfrnttf ir plur{nllurhruur)
25Orfq+125ilq

qz 4hrpuhrurn 130 26000 200

6.2.57 33621420unnnp{uruurulnfrtr (ulnnp{ururnurnlrh \rupfrnuf)
1Or-fo

qZ 4hrlurhurur 23 103500 4500

ryhS UrilFlltthuuryhtt
6.2.65 33631230qn{fr1nh lnr1 /qml}rr1nh 1n4, 10olo I00rI1 qZ

LnrdnLJfd 1056 42240 40
6.2.67 336312603nq 5olo 30 rI1 qz pnrbnrlp 221,76 44352 200
6 .2 - /  | 33691192$anllulfhfr hlrrlpnplnpfr4 2olo 2 ti1 N10/ qz ullqnrlur 26,4 rs840 600
6.2.79 33631250kpurtrnl Apurbu, 960/o 250 ilL/ qZ lnrbnqp 358 128800 350
6.2.85 33691 145duqtrhqfrmtfir unr-lipurur 25o/o 5d1 qZ urilqnr-1u 33 330 10

Uqpurtrplr Ahnp phpnttf, ru14 p{nril 510120


